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Ratio

Proportion Can you recall what

these are??
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Ratlo a comparison between

E—— two numbers
with the same units
Example: Tength = 8m
width  6m

Rate:

a fractional statement

PrOpOI’tIOn of equality

between twd ratios or rates

| XO\mP\Q
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a comparison between
two numbers
with different units
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State two more ways to write the ratio 3/4.
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Jean-Luc, a builder, works in Kentville, Nova Scotia. He has found that he
can arrange the work cubicles of his employees best if the ratio between the
length and the width of a room is 20:2.If a room is @m long, how wide should

‘the room be? P ‘%Jg_\%\i‘z\z\)

1. State the variable and Set up(atio)or rate

Let X= e width of The rooen

lena i
oo

2. Fill in ratio or rate (Fill in what you know)

oS

3. Create proportion.

\er_\o\’(\'\ 20 — _b
wdth @ X

4. Solve for the unknown.
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If halibut steaks cost $2.49 for 94 g, how much will it cost to buy 250 g of
halibut steaks? —

Lo = '\\V\Q Cice o
oA

C\CR
wt’SR‘\‘
1. State the variable and Set up ratio or rate.

.44 X
G >< 920
2. Fill in what you know.

3. Create proportion.
4. Solve for the unknown. O'Li X = G99, S

a4 9y
X:b(o.Q:Q

T4 wadd cosh *é.ﬁé Sor 9304 &
\\c\\.\h‘/\\‘ 3
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Recipe #1

3 cups of concentrate
7cups of water

If you only have 2 cups of concentrate of recipe #1,
how many cups of water will you need?

Lalf X:‘\'\\QﬁO“:Cu(DSG'E\é\{(
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A chainsaw's engine uses a mixture of 31 L of gas
to 2 L of oil. How much oil must you mix with 15 LL

of gas?

\—Q\_xt “\Q O\W\U\,(\’\ O~? él

%?\_S_

¥
3lx= 20
5\ 2)
X =047\l
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Page 21, Questions 1-7 (Omit #4)
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A B5
X= 36. % minacbe

el = minafo
mmu:’Em-:

2 ﬂ-ﬂ 27T
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X=35 minucha
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